12a0498 (K12a0498)

Linearized knot diagam
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Solving Sequence

l—

6,10-5->11>12->9—>4—>1—>8—>3—>2—> 7 C2,C
Cs Cio C11 Cg €4 Ci12 Cg C3 (€1 Ct

A knot diagrarrﬂ

Ideals for irreducible component#ﬂ)f Xpar

I = (u'® — ' 4y 2u - 1)

* 1 irreducible components of dim¢ = 0, with total 103 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I* = (u'% — %2 ... 4 20— 1)

(i) Arc colorings

0
aio = \u
1
as = u2
u
ann = \ud+u
3
a2 = \y3 +u
ud
ag = w +ud 4+ u
—ub —ut+1
ag = \ —y8 — 28 — 2¢*
wl” + 4ut® + TulB 4 4utt — 30 — 60" — 22U +u
a1 = \u" 4+ 50 + 120 + 1503 + 9ut —u® — 40" — 208 +ud +u
wll + 209 + 207 + u?
ag = \ —yMt — 3 — 4" — WP +ud +u
u30+7u28+.“72u12+1
as = —u30—8u28+~~—4u6+u2
—u™ — 20077 + - — 200 — 8u”
az = w2l — 205 4w
w1205 + - 4 200 + 8u”
a7 = u?® +13u "+ —2u8 +u
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u!'%t — 44100 ... 4+ 8y — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1 w0 4400102 44202 41

C2,Cq T T R (TR |
€3 % %% 17900 + 193

C4,C11 u'® — %% 250 42

Cs5,C10 w4+t 4 2u41
cr % — 3u!%? 4 ... — 1595u + 264
c8 uw'% — 1300 .. —20u + 1
Co wl03 55102 44902
Cra u'% 4+ 11u'%% + -+ + 34220u + 1889




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1 g3 4 119102 gy

Ca, Co y103 _ 49y102 92
€3 Y03 — 179102 ... 1 4028596y — 37249

C4,C11 y'% —81y'%? + ... + 933y — 4

¢s,C10 y103 4 554102 92
cr y'% +27y'%? + - 4 634249y — 69696
cs g3 _ 4102 g0y — 1
Co g0 134102 4y 1
12 y'03 4 319102 ... — 195909780y — 3568321




(vi) Complex Volumes and Cusp Shapes

—0.381785 + 0.8326631

—0.30974 — 1.637611

—2.00000 + 4.148791

—0.381785 — 0.8326631

—0.30974 + 1.637611

—2.00000 — 4.148791

—0.141462 4 0.9043921

—0.78760 — 1.615511

—4.77158 + 5.033181

—0.141462 — 0.9043921

—0.78760 + 1.615511

—4.77158 — 5.033181

—0.536452 + 0.7182271

2.52300 — 4.357211

2.56802 + 6.196791

—0.536452 — 0.7182271

2.52300 4 4.357211

2.56802 — 6.196791

0.535239 + 0.6910521

3.78238 — 0.332621

5.03269 + 0.166091

0.535239 — 0.6910521

3.78238 + 0.332621

5.03269 — 0.166091

0.547689 + 0.6471351

2.80904 — 2.329691

3.45285 + 0.745241

0.547689 — 0.6471351

2.80904 + 2.329691

Solutions to I} vV—1(vol +/—1CS) Cusp shape
u=0.320002 + 0.9588211 —2.49900 — 2.307441 0
u = 0.320002 — 0.9588211 —2.49900 + 2.307441 0
u= 0.534967 + 0.8308151 3.38408 + 4.668581 0
u = 0.534967 — 0.8308151 3.38408 — 4.668581 0
u= 0.441175+ 0.9109981 —3.42985 + 4.702641 0
u=0.441175 — 0.9109981 —3.42985 — 4.702641 0
U 0.541474 + 0.8598841 2.20908 4 6.719501 0
uw=0.541474 — 0.8598841 2.20908 — 6.719501 0
u = —0.087684 + 1.0132701 —1.99452 — 2.804371 0
u = —0.087684 — 1.0132701 —1.99452 4 2.804371 0
u = —0.523217 + 0.8726361 —2.24888 — 4.148111 0
u = —0.523217 — 0.8726361 —2.24888 4 4.148111 0
u= 0.045722 + 1.0236001 —6.06661 — 0.024517 0
u= 0.045722 — 1.0236001 —6.06661 + 0.024511 0
u = —0.547125 4 0.8677201 —0.03965 — 11.692401 0
u = —0.547125 — 0.8677201 —0.03965 + 11.692401 0
u = —0.533856 + 0.8090481 2.26374 4 0.022871 0
u = —0.533856 — 0.8090481 2.26374 — 0.022871 0
u= 0.087532+ 1.0371301 —4.34488 4 7.574201 0
u= 0.087532 —1.0371301 —4.34488 — 7.574201 0
u
u
u
u
u
u
u
u
u
u

3.45285 — 0.745241




Solutions to I

V=1(vol + v=1CS)

Cusp shape

1

IS

—0.559868 +- 0.6357601

0.61339 + 7.254941

—0.02996 — 4.753961

u = —0.559868 — 0.6357601 0.61339 — 7.254941 —0.02996 + 4.753961
uw=0.809540 + 0.1435091 —3.50008 — 12.181201 —3.85836 + 8.388811
u=0.809540 — 0.1435091 —3.50008 4 12.181201 —3.85836 — 8.388811
u= 0.445875+ 1.0931701 —2.45934 — 2.026001 0
w=0.445875 — 1.0931701 —2.45934 + 2.026001 0

u = —0.803251 + 0.1425761 —1.14708 + 7.172091 —0.67329 — 4.763011
u = —0.803251 — 0.1425761 —1.14708 — 7.172091 —0.67329 + 4.763011
u=0.804809 + 0.1298981 —5.67192 — 4.373191 —7.09504 + 2.738751
u=0.804809 — 0.1298981 —5.67192 + 4.373191 —7.09504 — 2.738751
u = —0.797909 + 0.0895561 —6.79166 + 4.063271 —8.41458 — 3.833381
u = —0.797909 — 0.0895561 —6.79166 — 4.063271 —8.41458 + 3.833381
u = —0.517494 + 0.6133731 —1.53027 — 0.110651 —3.24306 + 0.893791
u = —0.517494 — 0.6133731 —1.53027 + 0.110651 —3.24306 — 0.893791
u = —0.794335 + 0.0646131 —5.68131 — 3.717821 —6.83433 + 3.407801
u = —0.794335 — 0.0646131 —5.68131 + 3.717821 —6.83433 — 3.407801
u = —0.459511 + 1.1120401 —0.58125 — 2.762771 0

u = —0.459511 — 1.1120401 —0.58125 + 2.762771 0

u = —0.781132 + 0.1460051 0.37432 4 5.132411 0.93560 — 5.608141
u = —0.781132 — 0.1460051 0.37432 — 5.132411 0.93560 + 5.608141
uw= 0.780054 + 0.0758371 —3.06587 — 0.761361 —3.45076 + 0.458851
u= 0.780054 — 0.0758371 —3.06587 + 0.761361 —3.45076 — 0.458851
u= 0.760196 + 0.1474801 —0.480238 — 0.4667091 | —0.489197 — 0.4581951
uw= 0.760196 — 0.1474801 —0.480238 4 0.4667091 | —0.489197 + 0.4581951
u = —0.482703 4+ 1.1317007 —0.31489 — 4.815821 0

u = —0.482703 — 1.1317001 —0.31489 + 4.815821 0

u= 0.492426 + 1.1386201 —1.91052 + 9.618571 0

u= 0.492426 — 1.1386201 —1.91052 — 9.618571 0
u=0.385750 + 1.1796001 —4.33059 + 3.340411 0

uw= 0.385750 — 1.1796001 —4.33059 — 3.340411 0




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.451490 + 1.1580401

—4.91669 + 4.101961

0.451490 — 1.1580401

—4.91669 — 4.101961

—0.378666 4 1.1940901

—3.58733 + 1.256601

—0.378666 — 1.1940901

—3.58733 — 1.256601

—0.376464 4 1.2098101

—5.20506 + 3.204791

—0.376464 — 1.2098101

—5.20506 — 3.204791

0.374856 + 1.2139401

—7.59081 — 8.195971

0.374856 — 1.2139401

—7.59081 + 8.195971

0.384326 + 1.2127201

—9.69391 — 0.342981

0.384326 — 1.2127201

—9.69391 + 0.342981

0.416060 + 1.2045801

—6.81980 + 3.408491

0.416060 — 1.2045801

—6.81980 — 3.408491

—0.408104 + 1.2121801

—10.65190 — 0.108421

—0.408104 — 1.2121807

—10.65190 + 0.108421

0.505040 + 1.1783701

—3.48508 + 5.170171

0.505040 — 1.1783701

—3.48508 — 5.170171

—0.420660 + 1.2113807

—9.45073 — 7.967971

—0.420660 — 1.2113801

—9.45073 + 7.967971

—0.509259 + 1.1845901

—2.66866 — 9.902671

—0.509259 — 1.1845901

—2.66866 + 9.902671

0.484969 + 1.1949501

—6.32937 + 5.381471

0.484969 — 1.1949501

—6.32937 — 5.381471

—0.481638 4 1.2016201

—9.01650 — 0.917321

—0.481638 — 1.2016201

—9.01650 + 0.917321

= —0.492114 + 1.2001601

—10.05500 — 8.771751

—0.492114 — 1.2001607

—10.05500 + 8.771751

—0.513000 + 1.1927501

—4.24234 — 12.012201

—0.513000 — 1.1927501

—4.24234 4 12.012201

0.508768 + 1.1958701

—8.81383 + 9.193541

S| ||| |g|g|2|g|g|e|g|e g2 |e|g|g|g|g|g|g|g|g|g|g|ge =

0.508768 — 1.1958701

—8.81383 — 9.193541

(o] Reu] Hen] o) Hen) Hen) Hen] Hev] fev] fen] fen) fen) en) Hen] Nen] Hen] Jen] Rev) Jen) Jen) Hen) Hen) Hen] Hen)] Rev) Ren) Hen) Hen) Hen) N en)




Solutions to I} Vv —1(vol + v/—1CS) Cusp shape
u=0.514711+ 1.1947801 —6.6041 + 17.04511 0
u=0.514711 — 1.1947801 —6.6041 — 17.04511 0

0.661537 + 0.2099171

0.75840 — 5.177741

0.84738 + 5.824651

0.661537 — 0.2099171

0.75840 + 5.177741

0.84738 — 5.824651

0.573521 4 0.3431411

—0.33434 + 6.075801

—0.41612 — 5.541071

0.573521 — 0.3431411

—0.33434 — 6.075801

—0.41612 + 5.541071

u =

0.663359

—1.74433

—5.00130

u = —0.620334 + 0.2223211

2.29486 + 0.501561

4.19126 — 0.100941

u = —0.620334 — 0.2223211

2.29486 — 0.501561

4.19126 + 0.100941

u = —0.562085 + 0.3033351

1.76281 — 1.300561

3.34163 + 1.254321

u = —0.562085 — 0.3033351

1.76281 + 1.30056.1

3.34163 — 1.254321

u =

0.470704 + 0.4026611

—2.11819 — 0.972371

—3.63398 + 0.687421

u =

0.470704 — 0.4026611

—2.11819 + 0.972371

—3.63398 — 0.687421




II. u-Polynomials

Crossings u-Polynomials at each crossing

€1 u'® 44901 4 4207 + 1

¢, 6 wl03 102 93 1
€3 u® w0 o £ 1790u + 193

C4,C11 ul® — 9% 4. 250 42

Cs5,C10 w4 2u41
cr u'® — 3u!0? ... — 1595u 4 264
s uw'® — 13u'%? ... — 200+ 1
9 u'® 4550192 o2 — 1
c12 w'% 4+ 116 + -+ + 34220u + 1889




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1 g0 £ 119102 1 gy 1

Ca, Co y103 499102 1. 92
C3 y'9 — 17y 4 ... + 4028596y — 37249

C4,C11 y'% — 819102 ... + 933y — 4

¢s, 10 y103+55y102+~--+2y2—1
¢ y'9% 4274102 ... 4 634249y — 69696
(& ylog—y102+-~-—180y—1
Co y103—13y102+~-~+4y—1
12 y0 4+ 315192 ... — 195909780y — 3568321
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